



Fixed point of generalized F -Suzuki contraction mapping on complete extended b -metric spaces with application

Kuldeep Singh^a, Vizender Singh^{a,*}, Bijender Singh^b

^aDepartment of Mathematics, Guru Jambheshwar University of Science and Technology, Hisar-125001, Haryana, India

^bDepartment of Mathematics and Statistics, Manipal University Jaipur, Dahmi Kalan, Jaipur-303007, Rajasthan, India

Abstract. The present article introduces the concept of generalized F -Suzuki type contraction in the setting of extended b -metric spaces, inspired by the existing concept in b -metric spaces. The newly introduced notion is further utilized to prove fixed point theorems for F -Suzuki type contraction which unified, extended and generalized many existing results in the literature. Finally, the established results are utilized to solve Fredholm integral equation.

1. Introduction

In 1906, French scholar Maurice Fréchet [11] introduced the notion of metric space. Multiple approaches have been made to expand metric space since, including fuzzy metric spaces, probabilistic metric spaces and so on, via changing or eliminating certain axioms, shifting the metric function or removing some axioms entirely. These techniques are more used in fixed point research these days. Several beneficial findings have been produced in this being [16, 18–20].

Fixed point theory has swell as one of the most successful approaches in contemporary mathematical analysis. It is important in its own right way and has progressed considerably over the past century. Stefan Banach [3] was the first person who established fixed point theorem in the settings of metric spaces. Banach was able to extract the basic idea of fixed points from these outcomes and so began studying the subject of metric fixed-point theory. Following the fact that this branch grew independently and contributed to numerous advancements in a variety of fields of scientific research. The Banach contraction principle has been extended and generalized by several writers due to its relevance and simplicity (see to [4, 6, 7, 10, 13, 14]).

In this process, Wardowski [23] generalized Banach contraction in different manner by introducing F -contraction and proved a fixed point theorem. After that Wardowski and Dung [24] establish the notion of weak F -contraction by weakening the contraction condition and proved fixed point theorem. Hussein et

2020 *Mathematics Subject Classification.* Primary 47H10; Secondary 54H25.

Keywords. Fixed point, extended b -metric space, generalized F -Suzuki type contraction, Fredholm integral equation.

Received: 04 April 2024; Revised: 09 October 2024; Accepted: 26 October 2024

Communicated by Calogero Vetro

Research supported by Council of Scientific and Industrial Research(CSIR), [Vide CSIR-Ref. No.-09/0752(12551)/2021-EMR-I].

* Corresponding author: Vizender Singh

Email addresses: kssinwar268@gmail.com (Kuldeep Singh), vsihag3@gmail.com (Vizender Singh), punia.bijender@gmail.com (Bijender Singh)

ORCID iDs: <https://orcid.org/0009-0007-5928-3630> (Kuldeep Singh), <https://orcid.org/0000-0001-9545-3173> (Vizender Singh), <https://orcid.org/0000-0002-8006-6784> (Bijender Singh)

al. extended the result of Wardowski by applying some weaker conditions on the self-map of a complete metric space and proved a fixed point result which generalizes the result of Wardowski.

Bakhtin [4] and Czerwik [8] initially put forward the ideas of b -metric spaces as a new type of metric space that weaken the triangle inequality and Czerwik [9] proved Banach contraction principle in the settings of b -metric spaces. After that, many authors have proved fixed point theorems in the context of a b -metric space [1, 17]. Piri et al. [1] introduced generalized F -Suzuki type contraction in b -metric space and proved fixed point theorem for the newly established contraction.

In 2017, Kamran et al. [12] introduced the concept of extended b -metric space as a generalization of b -metric space and proved some fixed point theorem. The main aim of this article is to establish generalized F -Suzuki type contraction in the settings of extended b -metric space.

2. Preliminaries

In this section, some basic definitions and examples are collected from background study for further utilize them in the main results.

Definition 2.1. [12] Let E be a non-empty set and $\theta : E \times E \rightarrow [1, \infty)$ be a function. A mapping $m_\theta : E \times E \rightarrow [0, \infty)$ is said to be an extended b -metric if for all $\kappa, \lambda, \mu \in E$, the following conditions are satisfied:

- ($m_\theta 1$) $m_\theta(\kappa, \lambda) = 0$ iff $\kappa = \lambda$,
- ($m_\theta 2$) $m_\theta(\kappa, \lambda) = m_\theta(\lambda, \kappa)$,
- ($m_\theta 3$) $m_\theta(\kappa, \lambda) \leq \theta(\kappa, \lambda)[m_\theta(\kappa, \mu) + m_\theta(\mu, \lambda)]$.

The pair (E, m_θ) is called an extended b -metric space.

An extended b -metric is a b -metric on setting $\theta(\kappa, \lambda) = s$ and $\theta(\kappa, \lambda) = 1$ it become usual metric space. Hence the notion of extended b -metric is a real generalization of b -metric space.

Example 2.2. Assume $E = \{1, 2, 3\}$. Define $\theta : E \times E \rightarrow [1, \infty)$ and $m_\theta : E \times E \rightarrow \mathbb{R}^+$ as:

$$\begin{aligned} \theta(\kappa, \lambda) &= 1 + \kappa + \lambda, m_\theta(1, 1) = m_\theta(2, 2) = m_\theta(3, 3) = 0, \\ m_\theta(1, 2) &= m_\theta(2, 1) = 10, m_\theta(1, 3) = m_\theta(3, 1) = 100, m_\theta(2, 3) = m_\theta(3, 2) = 50. \end{aligned}$$

The conditions ($m_\theta 1$) and ($m_\theta 2$) trivially hold. For ($m_\theta 3$) we have:

$$\begin{aligned} m_\theta(1, 3) &= 100, \theta(1, 3) [m_\theta(1, 2) + m_\theta(2, 3)] = 5(10 + 50) = 300, \\ m_\theta(1, 2) &= 10, \theta(1, 2) [m_\theta(1, 3) + m_\theta(3, 2)] = 4(100 + 50) = 600, \\ m_\theta(2, 3) &= 50, \theta(2, 3) [m_\theta(2, 1) + m_\theta(1, 3)] = 6(10 + 100) = 660. \end{aligned}$$

Hence, for all $\kappa, \lambda, \mu \in E$

$$m_\theta(\kappa, \mu) \leq \theta(\kappa, \mu) [m_\theta(\kappa, \lambda) + m_\theta(\lambda, \mu)].$$

Hence, (E, m_θ) is an extended b -metric space but not a metric space as $m_\theta(1, 3) \geq m_\theta(1, 2) + m_\theta(2, 3)$, triangle inequality does not hold.

Definition 2.3. [12] Let (E, m_θ) be an extended b -metric space. A sequence $\{\kappa_n\}_{n=1}^\infty$ in E is called convergent sequence iff $\exists \kappa \in E$ such that $m_\theta(\kappa_n, \kappa) \rightarrow 0$ as $n \rightarrow \infty$ and in this case we write $\lim_{n \rightarrow \infty} \kappa_n = \kappa$.

Definition 2.4. [12] Let (E, m_θ) be an extended b -metric space. A sequence $\{\kappa_n\}_{n=1}^\infty$ in E is called Cauchy sequence iff $m_\theta(\kappa_n, \kappa_m) \rightarrow 0$ as $m, n \rightarrow \infty$.

Definition 2.5. [12] If every Cauchy sequence in E is convergent then (E, m_θ) is called complete extended b -metric space.

Definition 2.6. We define the continuity for extended b -metric space as follows: Let (E, m_{θ_E}) and (Y, m_{θ_Y}) are extended b -metric spaces. A mapping $f : E \rightarrow Y$ is called continuous at a point $\kappa \in E$, if \forall sequence $\{\kappa_n\}_{n=1}^{\infty}$ in E such that $\kappa_n \rightarrow \kappa$, then $f(\kappa_n) \rightarrow f(\kappa)$. And mapping $f : E \rightarrow Y$ is called continuous on E , if it is continuous at each point on E .

Definition 2.7. [1] Let \mathfrak{F} denote the set of all functions $F : \mathbb{R}^+ \rightarrow \mathbb{R}$ is mapping satisfying the following conditions:

- (\mathcal{F}_1) For all $\kappa, \lambda \in \mathbb{R}^+$ such that $\kappa < \lambda \Rightarrow F(\kappa) < F(\lambda)$ i.e. F is strictly increasing,
- (\mathcal{F}_2) For every sequence $\{\kappa_n\}_{n=1}^{\infty}$, $\lim_{n \rightarrow \infty} (\kappa_n) = 0 \Leftrightarrow \lim_{n \rightarrow \infty} F(\kappa_n) = -\infty$; where $\kappa_n > 0$ for all $n \in \mathbb{N}$.

Example 2.8. [23] Define $F : \mathbb{R}^+ \rightarrow \mathbb{R}$ as $F(\kappa) = \ln(\kappa) + \kappa$. Then, F hold the conditions (\mathcal{F}_1) and (\mathcal{F}_2) . Hence, $F \in \mathfrak{F}$.

3. Main results

Throughout this section motivated by the theme of generalized F -Suzuki type contraction in b -metric space, the idea of generalized F -Suzuki type contraction in extended b -metric space as follows.

Definition 3.1. Let (E, m_{θ}) be an extended b -metric space and $H : E \rightarrow E$ be a mapping. If $\exists F \in \mathfrak{F}$ and $\tau > 0$ such that $\forall \kappa, \lambda \in E$ with $\kappa \neq \lambda$

$$\frac{1}{2\theta(\kappa, H\kappa)} m_{\theta}(\kappa, H\kappa) < m_{\theta}(\kappa, \lambda) \Rightarrow \tau + F(m_{\theta}(H\kappa, H\lambda)) \leq \alpha F(m_{\theta}(\kappa, \lambda)) + \beta F(m_{\theta}(\kappa, H\kappa)) + \gamma F(m_{\theta}(\lambda, H\lambda)). \tag{1}$$

Where, $0 \leq \alpha, \beta \leq 1, 0 \leq \gamma < 1$ with $1 = \alpha + \beta + \gamma$. Then, H is called generalized F -Suzuki type contraction mapping on (E, m_{θ}) .

Theorem 3.2. Let (E, m_{θ}) be a complete extended b -metric space, $H : E \rightarrow E$ be a mapping and $\theta : E \times E \rightarrow [1, \infty)$ be a bounded function. If H is a generalized F -Suzuki type contraction on E , then H has a fixed point $\kappa^* \in E$.

Proof. Let fix $\kappa_0 \in E$. Consider an iterative sequence $\{\kappa_n\}$ as follows:

$$\kappa_1 = H\kappa_0, \kappa_2 = H\kappa_1 = H^2\kappa_0, \dots, \kappa_{n+1} = H\kappa_n = H^{n+1}\kappa_0, \forall n \in \mathbb{N} \cup \{0\}.$$

If $\kappa_n = \kappa_{n+1}$ for some $n \in \mathbb{N} \cup \{0\}$, therefore it is obvious that κ_n is a fixed point of H .

Now, consider that $\kappa_n \neq \kappa_{n+1} \forall n \in \mathbb{N} \cup \{0\}$, this yields $m_{\theta}(\kappa_n, H\kappa_n) > 0$, for all $n \in \mathbb{N} \cup \{0\}$. Therefore,

$$\frac{1}{2\theta(\kappa_n, H\kappa_n)} m_{\theta}(\kappa_n, H\kappa_n) < m_{\theta}(\kappa_n, H\kappa_n), \forall n \in \mathbb{N}. \tag{2}$$

Thus,

$$\begin{aligned} \tau + F(m_{\theta}(H\kappa_n, H^2\kappa_n)) &\leq \alpha F(m_{\theta}(\kappa_n, H\kappa_n)) + \beta F(m_{\theta}(\kappa_n, H\kappa_n)) + \gamma F(m_{\theta}(H\kappa_n, H^2\kappa_n)) \\ &\Rightarrow \tau + (1 - \gamma)F(m_{\theta}(H\kappa_n, H^2\kappa_n)) \leq (\alpha + \beta)F(m_{\theta}(\kappa_n, H\kappa_n)). \end{aligned}$$

Since, $\alpha + \beta + \gamma = 1$.

$$\Rightarrow F(m_{\theta}(H\kappa_n, H^2\kappa_n)) \leq F(m_{\theta}(\kappa_n, H\kappa_n)) - \frac{\tau}{\alpha + \beta} < F(m_{\theta}(\kappa_n, H\kappa_n)). \tag{3}$$

From (\mathcal{F}_1) , conclude that

$$m_{\theta}(\kappa_{n+1}, H\kappa_{n+1}) = m_{\theta}(H\kappa_n, H^2\kappa_n) < m_{\theta}(\kappa_n, H\kappa_n), \text{ for all } n \in \mathbb{N}. \tag{4}$$

Therefore, $\{m_\theta(\kappa_n, H\kappa_n)\}_{n=1}^\infty$ is a bounded below and monotonically decreasing sequence. Thus, sequence $\{m_\theta(\kappa_n, H\kappa_n)\}_{n=1}^\infty$ is convergent and

$$\begin{aligned} F(m_\theta(\kappa_n, H\kappa_n)) &= F(m_\theta(H\kappa_{n-1}, H^2\kappa_n)), \\ &\leq F(m_\theta(\kappa_{n-1}, H\kappa_{n-1})) - \frac{\tau}{\alpha + \beta}, \\ &\leq F(m_\theta(\kappa_{n-2}, H\kappa_{n-2})) - 2\frac{\tau}{\alpha + \beta}, \\ &\vdots \\ &\leq F(m_\theta(\kappa_0, H\kappa_0)) - n\frac{\tau}{\alpha + \beta}. \end{aligned}$$

Hence,

$$\lim_{n \rightarrow \infty} F(m_\theta(\kappa_n, H\kappa_n)) = -\infty \Leftrightarrow \lim_{n \rightarrow \infty} m_\theta(\kappa_n, H\kappa_n) = 0. \tag{5}$$

Our aims to demonstrate this in the subsequent stage,

$$\lim_{n, k \rightarrow \infty} m_\theta(\kappa_n, \kappa_k) = 0.$$

On the other hand, consider that there exists $\epsilon > 0$ and sequences $\{r_n\}_{n=1}^\infty$ and $\{s_n\}_{n=1}^\infty$ of \mathbb{N} satisfying,

$$r_n > s_n > n, \quad m_\theta(\kappa_{r_n}, \kappa_{s_n}) \geq \epsilon, \quad m_\theta(\kappa_{r_{n-1}}, \kappa_{s_n}) < \epsilon, \quad \text{for all } n \in \mathbb{N}. \tag{6}$$

Then,

$$\begin{aligned} m_\theta(\kappa_{r_n}, \kappa_{s_n}) &\leq \theta(\kappa_{r_n}, \kappa_{s_n}) [m_\theta(\kappa_{r_n}, \kappa_{r_{n-1}}) + m_\theta(\kappa_{r_{n-1}}, \kappa_{s_n})] \\ &\leq \theta(\kappa_{r_n}, \kappa_{s_n}) m_\theta(\kappa_{r_n}, \kappa_{r_{n-1}}) + \theta(\kappa_{r_n}, \kappa_{s_n}) \epsilon \\ &= \theta(\kappa_{r_n}, \kappa_{s_n}) m_\theta(\kappa_{r_{n-1}}, H\kappa_{r_{n-1}}) + \theta(\kappa_{r_n}, \kappa_{s_n}) \epsilon, \quad \text{for all } n \in \mathbb{N}. \end{aligned} \tag{7}$$

From equation (5), there exists $N_2 \in \mathbb{N}$ such that

$$m_\theta(\kappa_{r_n}, H\kappa_{r_n}) < \epsilon, \quad \text{for all } n > N_2. \tag{8}$$

Put the value in (7) find that

$$m_\theta(\kappa_{r_n}, \kappa_{s_n}) < 2\theta(\kappa_{r_n}, \kappa_{s_n})\epsilon, \quad \text{for all } n > N_2.$$

So from (\mathcal{F}_2) , we obtain

$$F(m_\theta(\kappa_{r_n}, \kappa_{s_n})) < F(2\theta(\kappa_{r_n}, \kappa_{s_n})\epsilon), \quad \text{for all } n > N_2. \tag{9}$$

On the other hand,

$$\frac{1}{2\theta(\kappa_{r_n}, H\kappa_{r_n})} (m_\theta(\kappa_{r_n}, H\kappa_{r_n})) < \frac{\epsilon}{2\theta(\kappa_{r_n}, H\kappa_{r_n})} < \epsilon \leq m_\theta(\kappa_{r_n}, \kappa_{s_n}), \quad \text{for all } n > N_2. \tag{10}$$

Although, H is generalized F -Suzuki type contraction, for all $n > N_2$, we investigate

$$\begin{aligned} \tau + F(m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) &\leq \alpha F(m_\theta(\kappa_{r_n}, \kappa_{s_n})) + \beta F(m_\theta(\kappa_{r_n}, H\kappa_{r_n})) \\ &\quad + \gamma F(m_\theta(\kappa_{s_n}, H\kappa_{s_n})), \end{aligned} \tag{11}$$

By the (9),

$$\begin{aligned} \tau + F(m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) &\leq \alpha F(2\theta(\kappa_{r_n}, \kappa_{s_n})\epsilon) + \beta F(m_\theta(\kappa_{r_n}, H\kappa_{r_n})) \\ &\quad + \gamma F(m_\theta(\kappa_{s_n}, H\kappa_{s_n})). \end{aligned}$$

There exist $M \in \mathbb{R}$ such that $F(2\theta(\kappa_{r_n}, \kappa_{s_n})\epsilon) \leq M$, because θ is bounded function. So from (5) and (\mathcal{F}_2) , obtain that,

$$\lim_{n \rightarrow \infty} F(m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) = -\infty.$$

From (\mathcal{F}_2) , we get

$$\lim_{n \rightarrow \infty} (m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) = 0 \Leftrightarrow \lim_{n \rightarrow \infty} (m_\theta(\kappa_{r_{n+1}}, \kappa_{s_{n+1}})) = 0.$$

This is a contradiction with the relation in (6). Hence, $\lim_{n, k \rightarrow \infty} m_\theta(\kappa_n, \kappa_k) = 0$, that is $\{\kappa_n\}_{n=1}^\infty$ is a Cauchy sequence in E . Because of completion of (E, m_θ) , there exists $\kappa^* \in E$ as well as

$$\lim_{n \rightarrow \infty} m_\theta(\kappa_n, \kappa^*) = 0. \tag{12}$$

Further show that, for every $n \in \mathbb{N}$

$$\begin{aligned} \text{Either } \frac{1}{2\theta(\kappa_n, H\kappa_n)} m_\theta(\kappa_n, H\kappa_n) &< m_\theta(\kappa_n, \kappa^*), \\ \text{or } \frac{1}{2\theta(\kappa_n, H\kappa_n)} m_\theta(H\kappa_n, H^2\kappa_n) &< m_\theta(H\kappa_n, \kappa^*), \quad \forall n \in \mathbb{N}. \end{aligned} \tag{13}$$

Assume, on the other hand, that there is $n_0 \in \mathbb{N}$ satisfying,

$$\begin{aligned} \frac{1}{2\theta(\kappa_{n_0}, H\kappa_{n_0})} m_\theta(\kappa_{n_0}, H\kappa_{n_0}) &\geq m_\theta(\kappa_{n_0}, \kappa^*) \\ \text{and } \frac{1}{2\theta(H\kappa_{n_0}, H^2\kappa_{n_0})} m_\theta(H\kappa_{n_0}, H^2\kappa_{n_0}) &\geq m_\theta(H\kappa_{n_0}, \kappa^*) \end{aligned} \tag{14}$$

From (4)

$$m_\theta(H\kappa_{n_0}, H^2\kappa_{n_0}) < m_\theta(\kappa_{n_0}, H\kappa_{n_0}). \tag{15}$$

It follows from (14) and (15) that

$$\begin{aligned} m_\theta(\kappa_{n_0}, H\kappa_{n_0}) &\leq \theta(\kappa_{n_0}, H\kappa_{n_0}) [m_\theta(\kappa_{n_0}, \kappa^*) + m_\theta(\kappa^*, H\kappa_{n_0})], \\ &\leq \theta(\kappa_{n_0}, H\kappa_{n_0}) m_\theta(\kappa_{n_0}, \kappa^*) + \theta(\kappa_{n_0}, H\kappa_{n_0}) m_\theta(\kappa^*, H\kappa_{n_0}), \\ &\leq \frac{1}{2} m_\theta(\kappa_{n_0}, H\kappa_{n_0}) + \frac{1}{2} m_\theta(H\kappa_{n_0}, H^2\kappa_{n_0}), \\ &< \frac{1}{2} m_\theta(\kappa_{n_0}, H\kappa_{n_0}) + \frac{1}{2} m_\theta(\kappa_{n_0}, H\kappa_{n_0}), \\ &= m_\theta(\kappa_{n_0}, H\kappa_{n_0}). \end{aligned} \tag{16}$$

Which is a contradiction. Hence, inequality (13) holds. Then, either

$$\begin{aligned} \tau + F(m_\theta(H\kappa_n, H\kappa^*)) &\leq \alpha F(m_\theta(\kappa_n, \kappa^*)) + \beta F(m_\theta(\kappa_n, H\kappa_n)) \\ &\quad + \gamma F(m_\theta(\kappa^*, H\kappa^*)), \end{aligned} \tag{17}$$

or

$$\begin{aligned} \tau + F(m_\theta(H^2\kappa_n, H\kappa^*)) &\leq \alpha F(m_\theta(H\kappa_n, \kappa^*)) + \beta F(m_\theta(H\kappa_n, H^2\kappa_n)) \\ &\quad + \gamma F(m_\theta(\kappa^*, H\kappa^*)), \end{aligned} \tag{18}$$

Letting $n \rightarrow \infty$ and applying equation (5) and (12), in (17), deduce

$$\begin{aligned} \lim_{n \rightarrow \infty} F(m_\theta(H\kappa_n, H\kappa^*)) &= -\infty, \\ \Rightarrow \lim_{n \rightarrow \infty} (m_\theta(H\kappa_n, H\kappa^*)) &= 0. \end{aligned} \tag{19}$$

Considering the triangular inequality, observe that

$$\begin{aligned} m_\theta(\kappa^*, H\kappa^*) &\leq \theta(\kappa^*, H\kappa^*) [m_\theta(\kappa^*, H\kappa_n) + m_\theta(H\kappa_n, H\kappa^*)], \\ &\leq \theta(\kappa^*, H\kappa^*) [m_\theta(\kappa^*, \kappa_{n+1}) + m_\theta(H\kappa_n, H\kappa^*)]. \end{aligned}$$

Let $n \rightarrow \infty$ in the inequality above, as well as the constraints in (12) and (19), deduce that, $m_\theta(\kappa^*, H\kappa^*) = 0$. Thus κ^* is a fixed point of H .

By equation (5) and (12)

$$\lim_{n \rightarrow \infty} F(m_\theta(\kappa_{n+1}, \kappa^*)) = -\infty, \quad \lim_{n \rightarrow \infty} F(m_\theta(\kappa_{n+1}, H\kappa_{n+1})) = -\infty. \tag{20}$$

Letting $n \rightarrow \infty$ and applying equation (5) and (12), in (18), deduce

$$\begin{aligned} \lim_{n \rightarrow \infty} F(m_\theta(H^2\kappa_n, H\kappa^*)) &= -\infty, \\ \Rightarrow \lim_{n \rightarrow \infty} (m_\theta(H^2\kappa_n, H\kappa^*)) &= 0. \end{aligned} \tag{21}$$

Considering the triangular inequality, we observe that

$$\begin{aligned} m_\theta(\kappa^*, H\kappa^*) &\leq \theta(\kappa^*, H\kappa^*) [m_\theta(\kappa^*, H^2\kappa_n) + m_\theta(H^2\kappa_n, H\kappa^*)], \\ &= \theta(\kappa^*, H\kappa^*) [m_\theta(\kappa^*, \kappa_{n+2}) + m_\theta(H^2\kappa_n, H\kappa^*)]. \end{aligned}$$

Let $n \rightarrow \infty$ in the inequality above, as well as the constraints in (12) and (21), deduce that $m_\theta(\kappa^*, H\kappa^*) = 0$. Thus κ^* is a fixed point of H . \square

Example 3.3. Consider the sequence $\{S_n\}_{n \in \mathbb{N}}$ as follows:

$$\begin{aligned} S_1 &= 1, \quad S_2 = 1 + 2^2, \quad \dots \\ S_n &= 1 + 2^2 + \dots + n^2 = \frac{n(n+1)(2n+1)}{6}. \end{aligned}$$

Let $E = \{S_n : n \in \mathbb{N}\}$ and $m_\theta(x, y) = |x - y|$. Then (E, m_θ) is complete extended b -metric space, (where $\theta(x, y) = 1$). Define the mapping $H : X \rightarrow X$ by $H(S_1) = S_1$ and $H(S_n) = S_{n-1}$ for every $n > 1$. Since,

$$\lim_{n \rightarrow \infty} \frac{m_\theta(H(S_n), H(S_1))}{m_\theta(S_n, S_1)} = 1.$$

H is not a Banach contraction and a Suzuki contraction. On the other hand taking $F(\alpha) = \frac{-1}{\alpha} + \alpha \in \mathfrak{F}$, we obtain the result that H is an generalized F -Suzuki type contraction with $\tau = 2$. To see this, let us consider the following calculation. First observe that,

$$\frac{1}{2} m_\theta(S_n, HS_n) < m_\theta(S_n, S_m) \iff [(1 = n < m) \vee (1 \leq m < n) \vee (1 < n < m)].$$

For $1 = n < m$, we have

$$\begin{aligned} |H(S_m) - H(S_1)| &= |S_{m-1} - S_1| = 2^2 + 3^2 + \dots + (m-1)^2. \\ |S_m - S_1| &= 2^2 + 3^2 + \dots + m^2. \end{aligned}$$

Since $m > 1$ and $\frac{-1}{2^2+3^2+\dots+(m-1)^2} < \frac{-1}{2^2+3^2+\dots+m^2}$, we have

$$\begin{aligned} 2 - \frac{1}{|H(S_m) - H(S_1)|} + |H(S_m) - H(S_1)| &= 2 - \frac{1}{2^2 + 3^2 + \dots + (m-1)^2} + [2^2 + 3^2 + \dots + (m-1)^2], \\ &< 2 - \frac{1}{2^2 + 3^2 + \dots + m^2} + [2^2 + 3^2 + \dots + (m-1)^2], \\ &\leq -\frac{1}{2^2 + 3^2 + \dots + m^2} + [2^2 + 3^2 + \dots + (m-1)^2] + m^2, \\ &= -\frac{1}{2^2 + 3^2 + \dots + m^2} + [2^2 + 3^2 + \dots + m^2], \\ &= -\frac{1}{|S_m - S_1|} + |S_m - S_1|. \end{aligned}$$

For $1 = m < n$, similar to $1 = n < m$, we have

$$2 - \frac{1}{|H(S_m) - H(S_1)|} + |H(S_m) - H(S_1)| < -\frac{1}{|S_m - S_1|} + |S_m - S_1|.$$

For $1 < n < m$, we have

$$\begin{aligned} |H(S_m) - H(S_n)| &= n^2 + (n+1)^2 + \dots + (m-1)^2. \\ |S_m - S_n| &= (n+1)^2 + (n+2)^2 + \dots + m^2. \end{aligned}$$

We know that $\frac{-1}{n^2+(n+1)^2+\dots+(m-1)^2} < \frac{-1}{(n+1)^2+(n+2)^2+\dots+m^2}$. Therefore,

$$\begin{aligned} 2 - \frac{1}{|H(S_m) - H(S_n)|} + |H(S_m) - H(S_n)|, &= 2 - \frac{1}{n^2 + (n+1)^2 + \dots + (m-1)^2} + [n^2 + (n+1)^2 + \dots + (m-1)^2], \\ &< 2 - \frac{1}{(n+1)^2 + (n+2)^2 + \dots + m^2} + [n^2 + (n+1)^2 + \dots + (m-1)^2], \\ &= -\frac{1}{(n+1)^2 + (n+2)^2 + \dots + m^2} + [(n+1)^2 + (n+2)^2 + \dots + (m-1)^2] + m^2, \\ &\leq -\frac{1}{(n+1)^2 + (n+2)^2 + \dots + m^2} + [(n+1)^2 + (n+2)^2 + \dots + m^2], \\ &< -\frac{1}{|S_m - S_n|} + |S_m - S_n|. \end{aligned}$$

Therefore, $\tau + F(m_\theta(H(S_m), H(S_n))) \leq m_\theta(S_m, S_n)$, for all $m, n \in \mathbb{N}$. Hence, H is a generalized F -Suzuki type contraction and $H(S_1) = S_1$.

Theorem 3.4. Let (E, m) be a complete b -metric space and a mapping $H : E \rightarrow E$ be a self-map. Assume, there is a $F \in \mathcal{F}$ and $\tau > 0$ such that $\forall \kappa, \lambda \in E$ with $\kappa \neq \lambda$,

$$\begin{aligned} \frac{1}{2^s} m(\kappa, H\kappa) &< m(\kappa, \lambda) \\ \Rightarrow \tau + F(m(H\kappa, H\lambda)) &\leq \alpha F(m(\kappa, \lambda)) + \beta F(m(\kappa, H\kappa)) + \gamma F(m(\lambda, H\lambda)). \end{aligned} \tag{22}$$

Where $0 \leq \alpha, \beta \leq 1, 0 \leq \gamma < 1$ with $1 = \alpha + \beta + \gamma$

Then, H has a fixed point $\kappa^* \in E$.

Proof. By setting $\theta(\kappa, \lambda) = s$ in Theorem (3.2), the desired proof is obtained. \square

Theorem 3.5. Let (E, m) be a complete metric space and $H : E \rightarrow E$ be a mapping. Assume, there is one $F \in \mathcal{F}$ and $\tau > 0$ such that for all $\kappa, \lambda \in E$ with $\kappa \neq \lambda$,

$$\frac{1}{2}m(\kappa, H\kappa) < m(\kappa, \lambda) \Rightarrow \tau + F(m(H\kappa, H\lambda)) \leq F(m(\kappa, \lambda)).$$

Then, H has a unique fixed point $\kappa^* \in E$.

Proof. By setting $\alpha = 1, \beta = \gamma = 0$ and $\theta(\kappa, \lambda) = 1$ in Theorem (3.2), then find H has a fixed point. Let fixed point is $\kappa^* \in E$. Furthermore, if $\exists \lambda^* \in E$ such that $H(\lambda^*) = \lambda^*$ and $\kappa^* \neq \lambda^*$ then,

$$\begin{aligned} \frac{1}{2}m(\kappa^*, H\kappa^*) < m(\kappa^*, \lambda^*) &\Rightarrow \tau + F(m(H\kappa^*, H\lambda^*)) \leq F(m(\kappa^*, \lambda^*)), \\ &\Rightarrow \tau + F(m(\kappa^*, \lambda^*)) \leq F(m(\kappa^*, \lambda^*)). \end{aligned}$$

Which is contradiction. So, H has a unique fixed point. \square

Remark 3.6. (I) When $\theta(\kappa, \lambda) = s \geq 1$. Then, Theorem (3.2) reduces to main result of Alsulami, karapnar and Piri [1]. Hence, Theorem (3.2) is a proper generalization of theorem (9) of [1].

Definition 3.7. Let (E, m_θ) be an extended b -metric space and $H : E \rightarrow E$ be a mapping. If $\exists F \in \mathfrak{F}$ and $\tau > 0$ such that $\forall \kappa, \lambda \in E$ with $\kappa \neq \lambda$,

$$\begin{aligned} 0 < m_\theta(H\kappa, H\lambda), \\ \Rightarrow \tau + F(m_\theta(H\kappa, H\lambda)) &\leq \alpha F(m_\theta(\kappa, \lambda)) + \beta F(m_\theta(\kappa, H\kappa)) + \gamma F(m_\theta(\lambda, H\lambda)). \end{aligned} \tag{23}$$

Where, $0 \leq \alpha, \beta \leq 1, 0 \leq \gamma < 1$ with $1 = \alpha + \beta + \gamma$. Then, H is called generalized F - contraction on extended b -metric space (E, m_θ) .

Theorem 3.8. Let (E, m_θ) be a complete extended b -metric space, H be a continuous self-mapping on E and $\theta : E \times E \rightarrow [1, \infty)$ is a bounded function. If H is a generalized F -contraction on E , then H has a fixed point $\kappa^* \in E$.

Proof. Let fix $\kappa_0 \in E$. Consider an iterative sequence $\{\kappa_n\}$ as follows:

$$\kappa_1 = H\kappa_0, \kappa_2 = H\kappa_1 = H^2\kappa_0, \dots, \kappa_{n+1} = H\kappa_n = H^{n+1}\kappa_0, \forall n \in \mathbb{N} \cup \{0\}.$$

If $\kappa_n = \kappa_{n+1}$ for some $n \in \mathbb{N} \cup \{0\}$, therefore result is obviously true.

Now, consider that $\kappa_n \neq \kappa_{n+1}$ for all $n \in \mathbb{N} \cup \{0\}$, this yields

$$m_\theta(\kappa_n, H\kappa_n) > 0 \text{ for all } n \in \mathbb{N} \cup \{0\}.$$

Thus, by the hypothesis of theorem, we have

$$\begin{aligned} \tau + F(m_\theta(H\kappa_n, H^2\kappa_n)) &\leq \alpha F(m_\theta(\kappa_n, H\kappa_n)) + \beta F(m_\theta(\kappa_n, H\kappa_n)) + \gamma F(m_\theta(H\kappa_n, H^2\kappa_n)), \\ \Rightarrow \tau + (1 - \gamma)F(m_\theta(H\kappa_n, H^2\kappa_n)) &\leq (\alpha + \beta)F(m_\theta(\kappa_n, H\kappa_n)). \end{aligned}$$

Since $\alpha + \beta + \gamma = 1$.

$$F(m_\theta(H\kappa_n, H^2\kappa_n)) \leq F(m_\theta(\kappa_n, H\kappa_n)) - \frac{\tau}{\alpha + \beta} \leq F(m_\theta(\kappa_n, H\kappa_n)). \tag{24}$$

From (\mathcal{F}_1) , conclude that

$$m_\theta(\kappa_{n+1}, H\kappa_{n+1}) = m_\theta(H\kappa_n, H^2\kappa_n) < m_\theta(\kappa_n, H\kappa_n), \text{ for all } n \in \mathbb{N}. \tag{25}$$

Therefore, $\{m_\theta(\kappa_n, H\kappa_n)\}_{n=1}^\infty$ is a bounded below and monotonically decreasing sequence. Thus, $\{m_\theta(\kappa_n, H\kappa_n)\}_{n=1}^\infty$ converges and

$$\begin{aligned} F(m_\theta(\kappa_n, H\kappa_n)) &= F(m_\theta(H\kappa_{n-1}, H^2\kappa_n)), \\ &\leq F(m_\theta(\kappa_{n-1}, H\kappa_{n-1})) - \frac{\tau}{\alpha + \beta}, \\ &\leq F(m_\theta(\kappa_{n-2}, H\kappa_{n-2})) - 2\frac{\tau}{\alpha + \beta}, \\ &\vdots \\ &\leq F(m_\theta(\kappa_0, H\kappa_0)) - n\frac{\tau}{\alpha + \beta}. \end{aligned}$$

Hence we have

$$\lim_{n \rightarrow \infty} F(m_\theta(\kappa_n, H\kappa_n)) = -\infty \Rightarrow \lim_{n \rightarrow \infty} m_\theta(\kappa_n, H\kappa_n) = 0. \tag{26}$$

Our aims to demonstrate this in the subsequent stage,

$$\lim_{n,k \rightarrow \infty} m_\theta(\kappa_n, \kappa_k) = 0.$$

If not satisfy this equation. Then, consider that there exists $\epsilon > 0$ such that sequences $\{r_n\}_{n=1}^\infty$ and $\{s_n\}_{n=1}^\infty$ of \mathbb{N} satisfying,

$$r_n > s_n > n, \quad m_\theta(\kappa_{r_n}, \kappa_{s_n}) \geq \epsilon, \quad m_\theta(\kappa_{r_{n-1}}, \kappa_{s_n}) < \epsilon, \quad \text{for all } n \in \mathbb{N}. \tag{27}$$

By triangle inequality,

$$\begin{aligned} m_\theta(\kappa_{r_n}, \kappa_{s_n}) &\leq \theta(\kappa_{r_n}, \kappa_{s_n}) \left[m_\theta(\kappa_{r_n}, \kappa_{r_{n-1}}) + m_\theta(\kappa_{r_{n-1}}, \kappa_{s_n}) \right], \\ &\leq \theta(\kappa_{r_n}, \kappa_{s_n}) m_\theta(\kappa_{r_n}, \kappa_{r_{n-1}}) + \theta(\kappa_{r_n}, \kappa_{s_n}) \epsilon, \\ &\leq \theta(\kappa_{r_n}, \kappa_{s_n}) m_\theta(\kappa_{r_{n-1}}, H\kappa_{r_{n-1}}) + \theta(\kappa_{r_n}, \kappa_{s_n}) \epsilon, \quad \text{for all } n \in \mathbb{N}. \end{aligned} \tag{28}$$

Because of (26), there one exists $N_2 \in \mathbb{N}$ satisfying,

$$m_\theta(\kappa_{r_n}, H\kappa_{r_n}) < \epsilon, \quad \text{for all } n > N_2, \tag{29}$$

Put in (28) find that

$$\begin{aligned} m_\theta(\kappa_{r_n}, \kappa_{s_n}) &< 2\theta(\kappa_{r_n}, \kappa_{s_n}) \epsilon, \quad \text{for all } n > N_2, \\ \Rightarrow F(m_\theta(\kappa_{r_n}, \kappa_{s_n})) &< F(2\theta(\kappa_{r_n}, \kappa_{s_n}) \epsilon), \quad \text{for all } n > N_2. \end{aligned}$$

On the other hand from (26),

$$\epsilon \leq m_\theta(\kappa_{r_n+1}, \kappa_{s_n+1}) = m_\theta(H\kappa_{r_n}, H\kappa_{s_n}).$$

Then,

$$\begin{aligned} \tau + F(m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) &\leq \alpha F(m_\theta(\kappa_{r_n}, \kappa_{s_n})) + \beta F(m_\theta(\kappa_{r_n}, H\kappa_{r_n})) \\ &\quad + \gamma F(m_\theta(\kappa_{s_n}, H\kappa_{s_n})), \\ \Rightarrow \tau + F(m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) &\leq \alpha F(2\theta(\kappa_{r_n}, \kappa_{s_n}) \epsilon) + \beta F(m_\theta(\kappa_{r_n}, H\kappa_{r_n})) \\ &\quad + \gamma F(m_\theta(\kappa_{s_n}, H\kappa_{s_n})). \end{aligned} \tag{30}$$

There exist $M \in \mathbb{R}$ such that $F(2\theta(\kappa_{r_n}, \kappa_{s_n})\epsilon) \leq M$, because θ is bounded function. So from (26) and (\mathcal{F}_2) , obtain that

$$\begin{aligned} \lim_{n \rightarrow \infty} F(m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) &= -\infty, \\ \Rightarrow \lim_{n \rightarrow \infty} (m_\theta(H\kappa_{r_n}, H\kappa_{s_n})) &= 0. \end{aligned}$$

This is a contradiction with the relation in (27). Hence, $\lim_{n,k \rightarrow \infty} m_\theta(\kappa_n, \kappa_k) = 0$; that is $\{\kappa_n\}_{n=1}^\infty$ is a Cauchy sequence in E . Because of completion of (E, m_θ) , there exists $\kappa^* \in E$ as well as.

$$\lim_{n \rightarrow \infty} m_\theta(\kappa_n, \kappa^*) = 0. \tag{31}$$

due to continuity of H , observe that

$$\lim_{n \rightarrow \infty} m_\theta(H\kappa_n, H\kappa^*) = 0.$$

As $m(\kappa^*, H\kappa^*) \leq \theta(\kappa^*, H\kappa^*) [m_\theta(\kappa^*, \kappa_n) + m_\theta(\kappa_n, H\kappa^*)]$, thus, $m_\theta(\kappa^*, H\kappa^*) = 0$ and so κ^* is a fixed point of H . \square

Example 3.9. Consider the sequence $\{S_n\}_{n \in \mathbb{N}}$ as follows:

$$\begin{aligned} S_1 &= 1, \quad S_2 = 1 + 2^3, \quad \dots \\ S_n &= 1 + 2^3 + \dots + n^3 = \left(\frac{n(n+1)}{2}\right)^2. \end{aligned}$$

Let $E = \{S_n : n \in \mathbb{N}\}$ and $m_\theta(x, y) = |x - y|$. Then (E, m_θ) is complete extended b -metric space, (where $\theta(x, y) = 1$). Define the mapping $H : X \rightarrow X$ by $H(S_1) = S_1$ and $H(S_n) = S_{n-1}$ for every $n > 1$. Since,

$$\lim_{n \rightarrow \infty} \frac{m_\theta(H(S_n), H(S_1))}{m_\theta(S_n, S_1)} = 1.$$

H is not a Banach contraction and a Suzuki contraction. On the other hand taking $F(\alpha) = \frac{-1}{\alpha} + \alpha \in \mathfrak{F}$, we obtain the result that H is an generalized F -contraction with $\tau = 1.5$. To see this, let us consider the following calculation. First observe that,

$$0 < m_\theta(HS_n, HS_m).$$

Then,

For $1 = n < m$, we have

$$\begin{aligned} |H(S_m) - H(S_1)| &= |S_{m-1} - S_1| = 2^3 + 3^3 + \dots + (m-1)^3, \\ |S_m - S_1| &= 2^3 + 3^3 + \dots + m^3. \end{aligned}$$

Since $m > 1$ and $\frac{-1}{2^3+3^3+\dots+(m-1)^3} < \frac{-1}{2^3+3^3+\dots+m^3}$, we have

$$\begin{aligned} 1.5 - \frac{1}{|H(S_m) - H(S_1)|} + |H(S_m) - H(S_1)| & \\ &= 1.5 - \frac{1}{2^3 + 3^3 + \dots + (m-1)^3} + [2^3 + 3^3 + \dots + (m-1)^3], \\ &< 1.5 - \frac{1}{2^3 + 3^3 + \dots + m^3} + [2^3 + 3^3 + \dots + (m-1)^3], \\ &\leq -\frac{1}{2^3 + 3^3 + \dots + m^3} + [2^3 + 3^3 + \dots + (m-1)^3] + m^3, \\ &= -\frac{1}{2^3 + 3^3 + \dots + m^3} + [2^3 + 3^3 + \dots + m^3], \\ &= -\frac{1}{|S_m - S_1|} + |S_m - S_1|. \end{aligned}$$

For $1 = m < n$, similar to $1 = n < m$, we have

$$1.5 - \frac{1}{|H(S_m) - H(S_1)|} + |H(S_m) - H(S_1)| < -\frac{1}{|S_m - S_1|} + |S_m - S_1|.$$

For $1 < n < m$, we have

$$\begin{aligned} |H(S_m) - H(S_n)| &= n^3 + (n + 1)^3 + \dots + (m - 1)^3, \\ |S_m - S_n| &= (n + 1)^3 + (n + 2)^3 + \dots + m^3. \end{aligned}$$

We know that $\frac{-1}{n^3+(n+1)^3+\dots+(m-1)^3} < \frac{-1}{(n+1)^3+(n+2)^3+\dots+m^3}$. Therefore,

$$\begin{aligned} &1.5 - \frac{1}{|H(S_m) - H(S_n)|} + |H(S_m) - H(S_n)|, \\ &= 1.5 - \frac{1}{n^3 + (n + 1)^3 + \dots + (m - 1)^3} + [n^3 + (n + 1)^3 + \dots + (m - 1)^3], \\ &< 2 - \frac{1}{(n + 1)^3 + (n + 2)^3 + \dots + m^3} + [n^3 + (n + 1)^3 + \dots + (m - 1)^3], \\ &= -\frac{1}{(n + 1)^3 + (n + 2)^3 + \dots + m^3} + [(n + 1)^3 + (n + 2)^3 + \dots + (m - 1)^3] + m^3, \\ &\leq -\frac{1}{(n + 1)^3 + (n + 2)^3 + \dots + m^3} + [(n + 1)^3 + (n + 2)^3 + \dots + m^3], \\ &< -\frac{1}{|S_m - S_n|} + |S_m - S_n|. \end{aligned}$$

Therefore, $\tau + F(m_\theta(H(S_m), H(S_n))) \leq m_\theta(S_m, S_n)$, for all $m, n \in \mathbb{N}$. Hence, H is a F -Suzuki contraction and $H(S_1) = S_1$.

Theorem 3.10. Let (E, m) be a complete b -metric space and a mapping $H : E \rightarrow E$ be a continuous map. Assume, there is one $F \in \mathcal{F}$ and $\tau > 0$ such that $\forall \kappa, \lambda \in E$ with $\kappa \neq \lambda$,

$$0 < m(H\kappa, H\lambda) \Rightarrow \tau + F(m(H\kappa, H\lambda)) \leq \alpha F(m(\kappa, \lambda)) + \beta F(m(\kappa, H\kappa)) + \gamma F(m(\lambda, H\lambda)).$$

Where, $0 \leq \alpha, \beta \leq 1, 0 \leq \gamma < 1$ with $1 = \alpha + \beta + \gamma$. Then, H has a fixed point $\kappa^* \in E$.

Proof. By setting $\theta(\kappa, \lambda) = s$ in Theorem (3.8), the desired proof is obtained. \square

Theorem 3.11. Let (E, m) be a complete metric space and a mapping $H : E \rightarrow E$ be a continuous map. Assume, there is one $F \in \mathcal{F}$ and $\tau > 0$ such that $\forall \kappa, \lambda \in E$ with $\kappa \neq \lambda$,

$$0 < m(H\kappa, H\lambda) \Rightarrow \tau + F(m(H\kappa, H\lambda)) \leq F(m(\kappa, \lambda)).$$

Then, H has a unique fixed point $\kappa^* \in E$.

Proof. By setting $\alpha = 1, \beta = \gamma = 0$ and $\theta(\kappa, \lambda) = 1$ in Theorem (3.8), then one can find that H has a fixed point. Furthermore, if there exists $\lambda^*, \kappa^* \in E$ such that $H(\lambda^*) = \lambda^*$ and $H(\kappa^*) = \kappa^*$ with $\kappa^* \neq \lambda^*$ then,

$$\begin{aligned} 0 < m(H\kappa^*, H\lambda^*) &\Rightarrow \tau + F(m(H\kappa^*, H\lambda^*)) \leq F(m(\kappa^*, \lambda^*)), \\ &\Rightarrow \tau + F(m(\kappa^*, \lambda^*)) \leq F(m(\kappa^*, \lambda^*)). \end{aligned}$$

This is contraction. So, H has a unique fixed point. \square

Remark 3.12. (I) When, $\theta(\kappa, \lambda) = s \geq 1$. Then, Theorem (3.8) reduces to main result of Alsulami, karapnar and Piri [1]. Hence, Theorem (3.8) is a proper generalization of theorem (15) of [1].

4. Applications

In this section, we find the solution of Fredholm integral equation by using Theorem (3.2). Let $E = C([0, 1], \mathbb{R})$ be the set of all continuous real valued functions defined on $[0, 1]$. Note that E is complete extended b -metric space by considering,

$$m_\theta(\lambda, \kappa) = \sup_{x \in [0, 1]} |\lambda(x) - \kappa(x)|^2,$$

with $\theta(\lambda, \kappa) = |\lambda(x)| + |\kappa(x)| + 2$, where $\theta : E \times E \rightarrow [1, \infty)$.

Consider

$$\lambda(x) = \int_0^1 M(x, y, \lambda(y))dy + g(x), \quad x, s \in [a, b]. \tag{32}$$

be the Fredholm integral equation, where $g : [0, 1] \times [0, 1] \times \mathbb{R} \rightarrow \mathbb{R}$ are continuous function.

Let $H : E \rightarrow E$ be an operator is given by,

$$H\lambda(x) = \int_0^1 M(x, y, \lambda(y))dy + g(x), \quad x, y \in [0, 1]. \tag{33}$$

Further, assume that

$$|M(x, y, \lambda(y)) - M(x, y, \kappa(y))| \leq e^{-\frac{\tau}{2}} |\lambda(y) - \kappa(y)|.$$

Then, the integral equation 32 has a solution.

Proof. For any $\lambda, \kappa \in E$ we have,

$$\begin{aligned} |H(\lambda(x)) - H(\kappa(x))| &= \left| \int_0^1 M(x, y, \lambda(y))dy + g(x) - \int_0^1 M(x, y, \kappa(y))dy - g(x) \right| \\ &= \left| \int_0^1 M(x, y, \lambda(y))dy - \int_0^1 M(x, y, \kappa(y))dy \right| \\ &= \left| \int_0^1 (M(x, y, \lambda(y)) - M(x, y, \kappa(y))) dy \right| \\ &\leq \int_0^1 e^{-\frac{\tau}{2}} |\lambda(y) - \kappa(y)| dy \\ &\leq \int_0^1 e^{-\frac{\tau}{2}} \sqrt{m_\theta(\lambda, \kappa)} dy \\ &= e^{-\frac{\tau}{2}} \sqrt{m_\theta(\lambda, \kappa)}, \\ \Rightarrow \sqrt{m_\theta(H(\lambda(x)) - H(\kappa(x)))} &\leq e^{-\frac{\tau}{2}} \sqrt{m_\theta(\lambda, \kappa)}, \\ \Rightarrow m_\theta(H(\lambda(x)) - H(\kappa(x))) &\leq e^{-\tau} m_\theta(\lambda, \kappa), \\ \Rightarrow \tau + \log m_\theta(H(\lambda(x)) - H(\kappa(x))) &\leq \log m_\theta(\lambda, \kappa). \end{aligned}$$

Hence, H satisfying all the conditions of Theorem (3.2). Therefore, the operator H has a fixed point that is, the fredholm integral equation has a solution. \square

Acknowledgements

One of the authors, Mr. Kuldeep Singh has received financial support from Council of Scientific and Industrial Research(CSIR), [Vide CSIR-Ref. No.-09/0752(12551)/2021-EMR-I]. Also, the authors are thankful to the Department of Science and Technology, New Delhi for providing financial assistance through [Grant No. SR/FST/MS-1/2017/4/2017] to the Department of Mathematics, Guru Jambheshwar University of Science and Technology, Hisar.

5. Conflict of Interest

The authors declared no conflict of interests related to this publication.

References

- [1] H. H. Alsulami, E. Karapinar, H. Piri, *Fixed points of generalized-Suzuki type contraction in complete b-metric spaces*, Discrete Dyn. Nat. Soc. **2015** (1) (2015), 969726.
- [2] A. Alsaadi, B. Singh, V. Singh, I. Uddin, *Meir Keeler type contraction in orthogonal M-metric spaces*, Symmetry **14** (9) (2022), 1856.
- [3] S. Banach, *Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales*, Fundam. Math. **3** (1) (1922), 133–181.
- [4] I. Bakhtin, *The contraction mapping principle in quasimetric spaces*, Funct. Anal. **30** (1989), 26–37.
- [5] D. Baleanu, S. Rezapour, H. Mohammadi, *Some existence results on nonlinear fractional differential equations*, Philos. Trans. A Math. Phys. Eng. Sci. **371** (1990) (2013), 20120144.
- [6] D. W. Boyd, J. S. Wong, *On nonlinear contractions*, Proc. Am. Math. Soc. **20** (2) (1969), 458–464.
- [7] L. B. Ćirić, *A generalization of Banach's contraction principle*, Proc. Am. Math. Soc. **45** (2) (1974), 267–273.
- [8] S. Czerwik, *Contraction mappings in b-metric spaces*, Acta Math. Sci. **1** (1) (1993), 5–11.
- [9] S. Czerwik, *Nonlinear set-valued contraction mappings in b-metric spaces*, Atti Semin. Mat. Fis. Univ. Modena Reggio Emilia **46** (1998), 263–276.
- [10] M. Edelstein, *On Fixed and Periodic Points under Contractive Mappings*, J. Lond. Math. Soc. **37** (1962), 74–79.
- [11] M. M. Fréchet, *Sur quelques points du calcul fonctionnel*, Rend. Circ. Mat. Palermo **22** (1) (1906), 1–72.
- [12] V. Kamran, M. Samreen, Q. UL Ain, *A generalization of b-metric space and some fixed point theorems*, Mathematics **5** (2) (2017), 19.
- [13] R. Kannan, *Some Results on Fixed Point*, Amer. Math. Monthly **76** (4) (1969), 405–408.
- [14] E. Keeler, A. Meir, *A theorem on contraction mappings*, J. Math. Anal. Appl. **28** (1969), 326–329.
- [15] P. Kumam, D. Gopal, L. Budhiyi, *A new fixed point theorem under Suzuki type Z-contraction mappings*, J. Math. Anal. **8** (1) (2017), 113–119.
- [16] G. N. V. Kishore, R. P. Agarwal, B. Srinuvasa Rao, R. V. N. Srinivasa Rao, *Caristi type cyclic contraction and common fixed point theorems in bipolar metric spaces with applications*, Fixed Point Theory Appl. **2018** (1) (2018), 1–13.
- [17] A. Lukacs, S. Kajanto, *Fixed point theorems for various type of F-contractions in complete b-metric space*, Fixed point theory **19** (2018), 321–334.
- [18] Z. Mustafa, B. Sims, *A new approach to generalized metric spaces*, J. Nonlinear Convex Anal. **7** (2006), 289–297.
- [19] A. Mutlu, U. Gurdul, *An in finite dimensional fixed point theorem on function spaces of ordered metric spaces*, Kuwait J. Sci. **42** (2015), 36–49.
- [20] A. Mutlu, U. Gurdul, *Bipolar metric space and some fixed point theorems*, J. Nonlinear Sci. Appl. **9** (2016), 5362–5373.
- [21] B. Singh, V. Singh, I. Uddin, Ö. Acar, *Fixed point theorems on an orthogonal metric space using Matkowski type contraction*, Carpathian Math. Publ. **14** (1) (2022), 127–134.
- [22] H. Suzuki, *A generalized Banach contraction principle that characterizes metric completeness*, Proc. Am. Math. Soc. **136** (5) (2008), 1861–1869.
- [23] D. Wardowski, *Fixed points of a new type of contractive mappings in complete metric spaces*, Fixed Point Theory Appl. **2012** (1) (2012), 1–6.
- [24] D. Wardowski, N. V. Dung, *Fixed points of F-weak contractions on complete metric spaces*, Demonstratio Math. **47** (1) (2014), 146–155.